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src_mac = (uint8 t *) malloc (6 * sizeof (uint8 t));

dst mac = (uint8 t *) malloc (6 * sizeof (uint8 t));

data = (uint8 t *) malloc (IP MAXPACKET * sizeof (uint8 t));

ether frame = (uint8 t *) malloc (IP MAXPACKET * sizeof (uint8 t));
interface = (char *) malloc (40 * sizeof (char));

(char *) malloc (40 * sizeof (char)):

src_ip = (char *) malloc (INET ADDRSTRLEN * sizeof (char));

dst_ip = (char *) malloc (INET ADDRSTRLEN * sizeof (char));

ip flags = (int *) malloc (4 * sizeof (int));

target

2 ERXKIEZEO

strepy (interface, “wlp6s0”) ;

3EIRRBERT HRERCKAEX MAZER Gt it

sd = socket (PF_PACKET, SOCK_RAW, 0)
’
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// 1Pva L. (47 bits) : 20 714
iphdr. ip hl =.IP4 HDRLEN"/ sizeof (uint32 t);

// 1P R4\ (4 bits) : IPv4
iphdr. ip v = 4;

//. TOS (8 bits)
iphdr. ip tos = 0;

// BKE (16 bits): IP header + ICMP header + ICMP data
iphdr. ip_len = htons (IP4 HDRLEN + ICMP_HDRLEN + datalen);

// IDFrIR (16 bits): unused, since single datagram
iphdr. ip _id = htons (0);

// k& Fimf (3, 13 bits): 0



// ta& (1 bit)
ip flags[0] = 0;

/G RbRE R R (1 bit)
ip flags[1] = 0;

// ®A&s R (1 bit)
ip_flags[2] = 0;

// Ff#% (13 bits)

ip_flags[3] = 0;

iphdr. ip off = htons ((ip flags[0] << 15)
+ (ip flags[1] << 14)
+ (ip flags[2] << 13)
+ ip flags[3]);

// Time—to—Live (8 bits): BERIAFK

iphdr. ip ttl = 255;

// AEHL (8 bits): 1 —> ICMP

iphdr. ip p = IPPROTO ICMP;

// V& IP (32 bits)

status = inet_pton (AF_INE ip, i :

// BIIP (32 bits)
status = inet pton (AF INET, dst.ip, &(iphdr.ip dst));

// TPvA AN s): WIMGRLE N 0

iphdr. ip_su

iphdr. ip_ checksum ((uintl6 t *) &iphdr, IP4 HDRLEN) ;
2

287 (8 bits): echo request
iemphdr. icmp type = ICMP_ECHO;

// A5 (8 bits): echo request

icmphdr. icmp code = 0;

//ICMP EEREEGA (16 bits) : ¥IIRLEE N O

icmphdr. icmp _cksum = icmp4 checksum (icmphdr, data, datalen);

[/ FRRFE (16 bits)



icmphdr. icmp_id = htons (1000) ;

// FEFIE (16 bits): M 0 JFEh
icmphdr. icmp seq = htons (0);
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// UAKMIMHKCREE = BUKMSLEHC (MAC + MAC + BUKRMIZERY) + DIOKMEME (IP sk + ICMP 3k +
ICMP %)

frame length = 6 + 6 + 2 + IP4 HDRLEN + ICMP HDRLEN + datalen;

// S3HIE MAC AT H g MAC
memcpy (ether frame, dst mac, 6);

memcpy (ether frame + 6, src mac, 6);
// UKMZERL (BETH P_IP for IPv4).

ether frame[12] = ETH P _IP / 256;
ether frame[13] = ETH P IP % 256;

LA AT HT (TPva 2 + TCHP 2 + ICHP $45).

// 1Pv4 3k

memcpy (ether frame + ETH HDRLEN, &iphdr,. IP4 HDRLEN) ;
L4

// TOWP 3k

memcpy (ether frame + ETH HDRLEN + IP4 HDRLEN, &icmphdr, ICMP_HDRLEN) ;

// TCMP ¥4
memcpy (ether frame| +ETH HDRLENg# IP4 HDRLEN + ICMP_HDRLEN, data, datalen);

5. RIEML

bytes ='sendto (sd, ether frame, frame length, 0, (struct sockaddr *) &device, sizeof (device));

6. KRR EET

close (sd) ;

=. AEEI:
LARKRAERZ ICMP iR,
2LBHBIBIERG A Linux Deepin, BRIA T 4 I 48 18 & 3 0 2 "wip6s0", BT IX 46 & 18 301 0 W& 4
"wlp6s0":strepy (interface, "wip6s0"), N 1% FRSE FRIB JLI& UL A A AD, A ZR R 2" wlan0”;
3EEXHIE R MAC itk A ffffFF 1R T IR B E CHBERER
/1% E B R MAC Hiiit



dst_mac[0] = Oxff;
dst_mac[1] = Oxff;
dst_mac[2] = Oxff;
]
]

dst_mac[3] = Oxff;

dst_mac[4] = Oxff;

dst_mac[5] = Oxff;
ABEXHRIP 4 192.168.0.1, Y IP 24 118.89.236.39(A A RYIZFZEH] IP)

/18 1P

strepy (src_ip, "192.168.0.1");

//EH ip

strcpy (target, "www.nextlegend.cn");
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//ICMP #i4&

datalen = 4;

data[0] = 'T";

®
data[l] = 'e’; @
data[2] ='s}
data[3] = 't
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icmp 8GR £
uintl6_t icmp4_checksum (struct icmp icmphdr, uint yload, int payloadlen)

IP EHEBRE

uint16_t checksum (uint16_t *add%@





